Differentiation - Inverse Trigonometric Functions

Differentiate each function with respect to x.

) v= cos™! —5x° 2) v= sin”! —2x?
3) y= tan™" 2.':4 4) y= csc ! 4_1;2
5) v= (sin™! S.r2)3 6) y=sin"! (3x° + 1)’

2

7y y=(cos™! 4x?) 8) y=cos™' (-2x* - 3)°



Answers

Differentiation - Inverse Trigonometric Functions

Differentiate each function with respect to x.

1) y=cos™' =5x°

Iy 1 .
g == —15|\"
de N1 - (sa)
15
A 1—25x°
3) y=tan™! 2x*
1y 1 i
g:% : 857
de (Y)Y +1
B 8x°
48+
5) y = (sin™" 5x2)
A . 2 1
2:3 (5111]51) — 10x
b V1-(5x2)?
~ 30x- (sin~! 5x2)°
N1 —25:
7 y= (cos™! 4.1:2)2
dy 5 1 ]
—— =2cos "4y ———— . 8x
] .5
dx V1 - (4x7)°

16xcos™! 4x?

A1 - 16x*

2) y=sin~' 2x°

1y 1
i = . 4y
dx 1— {‘_2‘,‘.2)3
3 4x
A1 —4x?
4) y=csc! 4x?
dy 1 g
a _ . 8y
de 4|V (4x2)? -1
2
Viext -1

6) y=sin"' (3x° +1)’
dy 1

W (@ £ 1))
45 (3% +1)°

V1= +1)°

S3(3x% +1)% - 15x*



